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What we have learned that we will be using:
- factoring and the quadratic formula leads to the roots

- finding the vertex (by factoring, partial factoring, or
completing the square) gives you the optimal value

Remember that in word problems it is always important to
identify the variables and sketching the parabola can be useful
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Applying our knowledge of Quadratics to Mﬂ/‘lu‘

Word Problems

Ex. 1) A hose is placed on an aerial ladder. The hose sprays
water on a forest fire. The height of the water, h, in metres
can be modelled by the relation

h=-225(d-1)*+9,

where d is the horizontal distance, in metres, of the water
from the nozzle of the hose.

a) What is the maximum helght reached by the water?

D e

b) At what horizontal distance from the nozzle is the max height reached?

Mo hoght is Im ku’m«k\\jﬁu norele

c) What is the height of the aerial ladder?
ladder +hoze ak S-Wk = __zzg(o_b1+<1

o fud 3'\4* k=0 =225 +9
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d) How high is the water when it is at &’horizontal distance of 2m
from the nozzle?

Sk d=2 S A wader 8
k--ns'(z ) +9 Hthﬁk
=225 +9 ok d=2m
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Ex. 2) A ball is thrown into the air. Its height, in metres, after
t seconds is h = -4.9f + 39.2t + 1.75.
a) When does it reach maximum height?

h=-49t*+31.2¢ +13S _e
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b) What is the maximum height?

ot e, kuﬁLlr iy €0.Cm,
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Ex. 2) continued...

A ball is thrown into the air. Its height, in metres, after
tseconds is h = -4. 9t2 +39.2t+ 1.75.

c) From v”1at helght is the ball released’?(

bl ocews b £ =0 (e asx=0
Sk {‘::?:g 3y - 5-"*
PRI ) \\da&i is |.FSm

d) When does the ball hit the ground?

batl hits grov-d Whea W=0

sphind ephon2.
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Ex. 3) Supermarket cashiers try to memorize current sale
prices while they work. A study showed that, on
average, the percent, P, of prices memorized after
t hours is given approximately by the formula

P =-40t% + 120t

e reatest percent of prlces memorized, and

What is th
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P=-go(t-15Y 4.9 By = -to(18) +rsl
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Assigned Work:

0. 356 #2, 3, 6, 8
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2. H=z-o0lx +09% +/b
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3(b) 1
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